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Shaw all cork on s dest o o 59oam-!e.‘/0§¢ev‘,
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[, 4= 3xw—2 2. 4==-2x+3 3. .—.-%74.,.3
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4. 2x+3y=/2 $ 2x-34=—12 ¢ Y=4
70) 3x+24 < 6 B give %o shoe and § irberat
. 8. Yz-2x—3 2. 2x+34y=1/2




10, Fnd % % awd 4 fm./erzyzé . Fnd t&ﬁséaa ?{
3X — 49 = /2 | 2 line %455[/5 '%m«;/g
(~2,4) a/ (452)

/2, Given 2l //he #:’#x--/-'s') 13. Given 2o line 2x+$Y= lo

Find ﬁé. .3/72-2 2/'4. line +/nd 2£n s/wfa. lne.
Q) parallel B /4 a) /%M/l&/:
4) ﬁér‘fendfc«ga\r s/t ) 4)/.&_%& /'z«.ﬂar:

b 4=, Fnd ﬁé_wm o a line (in %—*-m'kaaf-%m)
14, wi sleze 4 15 witl /e - 74 |
"—"(\'ﬂy/" 2,8 va-nc-f/\ (2,-5)




&\/é—-.za/ £ird X+ 4:-

/6. 2;(.,_% = 4- a7 3K 424 = ¥ 18. 274—23,‘.—,.12
X—y = 5§ | X +5Y4 =4 -X+Y ==6
19, SX+2Y§=-12 20, 3x—SY = —IO
|
2. f6)= 3x—§ 22, £(x)z X 4K+ 3
A) £(o) = a) 4(2.§ =
£) $(=2)= € f(-2) =

&) £wed) = ) f(gel)=



BAstc ALG. Examn 4s Solutims

/. 4=3xX—2 2, Y=—2X+3 g o 3. gz—é’\(‘{’}
gink = > er yint = 3 *\ pint= 3
M= = ] - m= -2 M= —=
4. 2x434= 2 5 zx——: -r-lz_» 4=4
< 4 (x I's %V&Zbﬂ.@/ 7:4)
o4 <& >
élo - 1
x e | X
g 4=-2x~3 0. 3xX~49= ]
G~ xe‘néff =0, JK=IL
5,—%& ?(o,—sb @, x=4
9. 2X+3Y=/2 %m‘ (X=0) ~44 =12
3%~—~zx+m ="
2x+4 0. (-2, 4) (4,*2)
94 <4— C"’Z)_ L 7
EB G - LT
3. 2x+5Y = /0 M. m=g¢ (-3,5)
5’@ = —2><+/o Y-y = m(xmxl)
Y-5 = 4 (x +2)
, §-S=dxX+ g
4) Crr=ax"g)
6, 2x+yYy =4 17, X +24=3 18, 2X~24=/2
;%=;~ - =3(x+54=4) ‘29: Lot 33 f‘"‘“
— K = 32 3 - - =12
4'1'!'26::. 3><l+-é ‘?;3 7{5“', w_'?}' 2X +;5§ T2
€_+ @ G+ g = —1 ;g;j;é
1.8t R e
'%“"’I’l ; 20, 3)5-'535-”1’0 X =d42. . o 3
28 e . ==
xR 3X-S(2X~8)=—/0 2. f5)= S G)etde 4G54 3
: 3K = 10X + 25 = ~/0 &>, C7
-7X ==35




